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Stellenwert untersuchen

Name:

1)

3)

5)

7)

9)

Bestimme, welche Auswahl die Frage korrekt beantwortet. Antworten
Which choice has adigit in the hunderten 2) Which choice has adigit in the tausenden
place that is exactly twice the value of the place that is exactly twice the value of the 1
digit in the billions place? digit in the millions place?
A. 3.154.272 A. 654.123 2.
B. 2.476.931 B. 679.231
C. 1.264.893 C. 148.632 3.
D. 5.681.237 D. 633.581
4,
Which choice has adigit in the tausenden 4) Which choice has adigit in the tausenden
place that is exactly twice the value of the place that is exactly three times the value of >
digit in the einern place? the digit in the einern place?
A. 243.867 A.639.724 6.
B. 879.814 B. 175.482
C. 173.496 C. 238.169 7.
D. 139.784 D. 336.421
8.
Which choice has adigit in the billionsplace  6) Which choice has a digit in the einern place 9
that is exactly three times the value of the that is exactly three times the value of the '
digit in the tausenden place? digit in the billions place?
A.5.271.692 A. 1.386.972 10.
B. 9.213.864 B. 6.341.258
C. 5.638.917 C.4.783.126
D. 6.317.852 D. 2.918.369
Which choice has adigit in the zehnern place  8) Which choice has adigit in the zehnern place
that is exactly four times the value of the digit that is exactly four times the value of the digit
in the billions place? in the einern place?
A. 4.897 A.78
B. 5.263 B. 85
C.5.144 C.93
D.9.714 D. 82
Which choice has adigit in the zehnern place  10) Which choice has adigit in the zehnern place
that is exactly five times the value of the digit that is exactly six times the value of the digit
in the billions place? in the ten millions place?
A.56.348 A. 1.829.467
B. 58.273 B. 1.374.582
C. 78.159 C.5.741.923
D. 82.359 D. 4.825.671
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9)

Bestimme, welche Auswahl die Frage korrekt beantwortet. Antworten
Which choice has adigit in the hunderten 2) Which choice has adigit in the tausenden A
place that is exactly twice the value of the place that is exactly twice the value of the L
digit in the billions place? digit in the millions place?

A.3.154.272 A. 654.123 2 _ D
B. 2.476.931 B. 679.231
C. 1.264.893 C. 148.632 3 _ B
D. 5.681.237 D. 633.581

4. D
Which choice has adigit in the tausenden 4) Which choice has adigit in the tausenden c A
place that is exactly twice the value of the place that is exactly three times the value of '
digit in the einern place? the digit in the einern place?
A. 243.867 A.639.724 6 D
B. 879.814 B. 175.482
C. 173.496 C. 238.169 7. C
D. 139.784 D. 336.421

g. D
Which choice has adigit in the billionsplace  6) Which choice has a digit in the einern place 9 C
that is exactly three times the value of the that is exactly three times the value of the '
digit in the tausenden place? digit in the billions place?
A.5.271.692 A. 1.386.972 0. __A
B. 9.213.864 B. 6.341.258
C. 5.638.917 C.4.783.126
D. 6.317.852 D. 2.918.369
Which choice has adigit in the zehnern place  8) Which choice has adigit in the zehnern place
that is exactly four times the value of the digit that is exactly four times the value of the digit
in the billions place? in the einern place?
A. 4.897 A.78
B. 5.263 B. 85
C.5.144 C.93
D.9.714 D. 82
Which choice has adigit in the zehnern place  10) Which choice has adigit in the zehnern place
that is exactly five times the value of the digit that is exactly six times the value of the digit
in the billions place? in the ten millions place?
A.56.348 A. 1.829.467
B. 58.273 B. 1.374.582
C. 78.159 C.5.741.923
D. 82.359 D. 4.825.671
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